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General Instructions:

(i) Section A has 6 questions of 1 mark each.

(ii) Section B has 6 questions of 2 marks each.

(iii) Section C has 10 questions of 3 marks each.

(iv) Section D has 8 questions of 4 marks each.

(v) There is no overall choice in any question.

Section – A

1) The graph of a polynomial, y=p(x) is given below :

By looking at the graph, find the number of zeros of p(x)

2) Find the value of x, if the mode of the following data is 25.

15, 20, 25, 18, 14, 15, 25, 15, 18, 16, 20, 25, 20, x, 18

3) In figure, S and T are the points on the sides PQ and PR respectively

of PQR, such that PT = 4 cm, TR=4 cm and ST is parallel to QR.

Find the ratio of the areas of  PST and PQR.

4) For any integer a and 3, there exists unique integers q and r such that, a=3q+r.

Find the possible values of r.

5) Write whether the following pair of linear equations is consistent or not.+ = 14, − = 4
6) In the given figure, find tanP-cotR

Section – B (2×6=12)

7) An army contingent of 616 members is to march behind an army band of 32 members in a parade.  The
two groups are to march in the same number of columns.  What is the maximum number of columns in
which they can march?

8) Prove that : . =  − 

9) Find the zeroes of the following polynomial and verify the relationship between  the zeroes and the
coefficients : 6 − 7 − 3

10) In figure ABD is a right triangle, right angled

at A and ACBD. Prove that AB2=BC.BD

11) Sove for x and y : 2 + 3 = 7; 4 + 3 = 11
12) If the mean of the following distribution is 6, find the value of P :

X 2 4 6 10 P+5

Y 3 2 3 1 2

Section – C (2×6=12)
13) Find all the zeroes of the polynomial 2 + 7 − 19 − 14 + 30, if two of its zeroes are√2 √−2

PTO
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14) Draw the graph of 2 + = 6 and 2 − + 2 = 0.  Shade the region bounded by these lines and the
x-axis.  Find the area of the shaded region .

15) Prove that √3 is irrational.

16) In figure = and ∠ = ∠
Prove that PQR is an isosceles triangle.

17) Prove that =
18) Find the mode from the following data :

Class Frequency

0 – 20 6

20 – 40 8

40 – 60 10

60 – 80 12

80 – 100 6

100 – 120 5

19) Evaluate :
( )( )+ ( )( )

20) Find the largest number which divides 615 and 963 leaving remainder 6 in each case.

21) Divide 3 − − 3 + 5 − 1 − and verify the division algorithm.

22) For what values of K will the following pair of linear equations have infinitely many solutions :+ 3 − ( − 3) = 0, 12 + − = 0
Section D

23) Use Euclid’s division Lemma, show that the cube of any positive integer is of the form 9m, 9m+1, 9m+8.

24) Solve for x and y + = 4 − = −2
25) State and prove Basic Proportionality theorem and hence show that the diagonals of a trapezium divide

each other proportionally.

26) If are the zeroes of the polynomial ( ) = − + then, find the value of + .

27) The following distribution gives the daily income of 50 workers of a factory.

Daily Income
(in `)

100-120 120-140 140-160 160-180 180-200

Frequency 12 14 8 6 10

Convert the distribution above to a less than type cumulative frequency distribution, and draw its Ogive.

28) Evaluate :

29) Meena went to a bank to withdraw ` 2000.  She asked the cashier to give her `50 and `100 notes only.

Meena got 25 notes in all.  Find how many notes of `50 and `100 she received.

30) The perpendicular from A on side BC of a  ABC

intersects BC at D such that DB=3CD.  (See fig.)

Prove that 2 = 2 +
************
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General Instructions :

1) 1  mark questions are to be answered in one word or one sentence.

2) 2 marks questions are to be answered in 20-30 words.

3) 3 marks questions are to be answered in 50 words.

4) 5 marks questions are to be answered in 70 words.

5) There are internal choices in one of the 5 marks questions of Physics  and 3 marks of  Chemistry and
Biology.

PHYSICS 27

1. a)  Name the device by which we measure the potential difference across a conductor. 2

b)  How much energy is transferred by a 6 V battery to each coulomb of charge which moves
around a circuit?

2. You have to use a fuel for your house.  List any 4 characteristics that you will find in it to be
considered as an ideal fuel. 2

3. a)  How many Kilowatt is equal to 1 horse power. 3
b)  What is the difference between Kilowatt and Kilowatt hour.
c)  An electric Geyser has the rating of 2000 W – 220 V marked on it.  What should be the

minimum current rating of fuse wire that may be required for the safe use of this Geyser?
4. a)  A positively charged particle projected toward west is deflected towards north by a magnetic

field.  Write the statement of rule used to determine this. 3

b)  Magnetic Field lines of two bar magnet A & B are as shown figure below.

Name the poles of Magnet A & B facing each other.

5. a)  State the function of each of the following parts of a solar cooker. 3

(i)  Mirror     (ii) Glass Plate

b)  Write the two limitations of a box type solar cooker.

6. a)   Draw a schematic labelled diagram of a domestic electric circuit. 2+3

b)  Why is it necessary to provide

(i)  fuse in an electric circuit and

(ii)  an earth wire to electric appliances having metallic body?  Explain.

7. a)  Derive an expression for equivalent resistance of three resistors connected in parallel. 3+2

b)  In the given circuit find (i)  Equivalent resistance

(ii)  Total current in circuit

(OR)

a)  State Joule’s law of heating effect. (1+2+2=5)

b) Explain why nichrome is used for making elements of electrical heating devices?

c) Two identical resistors each of resistance ‘R’ are connected in series with a battery of potential
difference V for time‘t’.  The resistances are later connected in parallel and the same battery is
connected across the combination for time‘t’.  Find the ratio of heat produced when they are connected
in series and in parallel.
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8. In the given figure, find the reading of the devices

and calculate the resistance in the circuit. 2

9.     A student has three voltmeters across

three resistances R1, R2 & R3 as in fig.

Given that R1< R2 < R3.

(i) Write V1, V2, V3 in decreasing

Order of reading shown by each of them

(ii) What will you observe about the potential

difference and current across each resistance in series combination?

CHEMISTRY 26

1. What happens when a chemical reaction occurs?  (any two) (1)

2. Tooth enamel is the hardest substance in our body.  Name the compound of which it is made up of.
At what pH of the mouth it gets corroded?  State the role of bacteria present in the mouth.  Suggest
a method to prevent tooth decay. (2)

3. State three reasons for the following statements : (3)

(a)  Sulphur is a non-metal.

(b)  Magnesium is a metal

One of the reasons must be supported with a chemical equation.

4. (i)  Name the products obtained in chlor-alkali process. (3)

(ii)  Name the gases liberated at anode and at cathode respectively.

(iii)  Name the solution which is used as raw material in this process.

5. Complete and balance the following chemical equations : (3)

(a) CaCO3 + HCl 

(b) Al + H2SO4 

(c) MnO2 + HCl
(OR)

Write one example with chemical equation for each of the decomposition reactions carried out

with the help of (1)  Electricity   (2)  Heat   (3)  Sunlight (3)

6. State reason for the following statements : (5)

(a)  Tap water conducts electricity whereas distilled water does not.

(b)  Dry HCl gas does not turn blue litmus red whereas dilute HCl does.

(c)  Mention the pH range within which our body works.

Explain how antacids give relief from acidity.

(d)  The colour of blue copper sulphate crystals changes to white on heating.



:::  3  :::

7. a) Explain why is HCl a strong acid and acetic acid, a weak acid.  How can it be verified? (5)

b)  Explain why aqueous solution of an acid conducts electricity.

c)  You have four solutions A,B,C and D.

The pH of solution A is 6,  B is 9,  C is 12 and D is

(i) Identify the most acidic and most basic solution.

(ii) Arrange the above four solutions in the increasing order of H+ ion concentration.

(iii) State the change in the colour of pH paper on dipping in solution C and D.

8. A solution ‘X’ gives orange colour when a drop of universal indicator is added to it.  On the other

hand, another solution ‘Y’ gives bluish green colour when a drop of universal indicatory is added

to it.  What are the types of solution ‘X’ and ‘Y’ and what type of pH would they have? (2)

9. What are acid base indicator?  Give two examples. (2)

BIOLOGY 27

1. Name the specialized tips of nerve cell which detect information from environment.  Where are
these located in our body? (1)

2. Give reasons :

a) Rate of breathing in aquatic organisms is much faster than that seen in terrestrial organisms. (3)

b) Herbivores have longer small intestine than that of carnivores.
c) There is no release of carbon dioxide by plants during the day time.

3. Define reflex arc.  Draw the diagram or flow chart showing the sequence of events which occur
during a reflex action. (3)

(OR)

Name the parts of a neuron –
a) where information is acquired.

b) through which information travels as an electrical impulse.

c) where this impulse is converted to chemical signal for onward transmission.

4. We need a mechanism to regulate secretion of hormones in our body.  What is that mechanism?

Illustrate with help of an example. (3)

5. During sports practice in the school, many students got tired very soon and were found to be

Anaemic.  Health and wellness group students made a presentation on the topic ‘right diet for right

health’ and uploaded it on school website. (3)

(1) What causes Anaemia?

(2) Name the foods that can help to overcome the problem of Anaemia.

(3) What value of Health and Wellness group students is displayed in the above act?

6. Which part of brain controls? (5)

(a) Conscious thinking

(b) Balance of the body

(c) Blood pressure, salivation and vomiting.

Also draw the structure of brain and label the following parts –

a) Cerebrum

b) Mid brain

c) Hind brain

d) Forebrain
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7. What is excretion?  Name the excretory unit of kidney. With help of labeled diagram describe

formation of urine by the excretory units. (5)

8. In the following diagram of the stomatal apparatus, label any four parts. (2)
(2)

9. Given below is an experimental setup to show that carbon dioxide is released during respiration. (2)

Write any two reasons why the students could not got the desired result.

*************

.
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General Instructions :

1) The question paper has 29 questions in all.  All questions are compulsory.

2) Answers of threemarks questions should not exceed 80 words each.

3) Answers of five marks questions should not exceed 120 words each.

4) Question number 15 is a map question of 2 marks from History and question no. 6 is of 3
marks from Geography. After completion, attach the map inside your answer book.

History & Civics 40

1) Who remarked “When France sneezes the rest of Europe catches cold”? (1)

2) The resolution of Poorna Swaraj was adopted at which session of Congress? (1)

3) In which country did the policy of Majoritarianism lead to a Civil War? (1)

4) Name the movement led by Martin Luther King Jr. (1) 1

5) By which name is the rural local government popularly known? (1)

6) Communalism refers to a division based on which idea? (1)

7) Describe any three measures taken by French Revolutionaries to create the sense of
collective identity amongst the French people. (3)

8) Explain any three provisions of Treaty of Vienna. (3) 3

9) Explain any three forms of communalism in Indian politics. (3)

10) Explain any three constitutional provisions taken in 1992 towards decentralization in India. (3)

11) Explain the process of German unification. (5)

12) Why did the Non-Cooperation gradually slowdown in the cities? Explain. (5)

13) What is federalism? Explain any four features of Federalism. (5)

14) “Social division takes place when some social differences overlap with other differences”,
clarify. Write the factors that determine the outcomes of politics of social division. (2+3=5)

15) In a given outline map of India, name and locate the following : (2) 2

a) Special Session of Congress, September-1920.

b) The place where violence broke out in February 1922.

Geography 20
Answer the following questions :

1) What is the main cause of land degradation in Chhattisgarh? (1)

2) Which soil is found in the Deccan Trap region?  Write about any two features of this soil. (1+2)

3) Explain three characteristic features of Plantation agriculture. (3)

4) What are dams? Explain two advantages and two disadvantages of multipurpose river

projects. (1+2+2)

5) Name the most important food crop of India. Describe it’s cultivation under the following
heads. (1+4)

i) Cropping season
ii) Temperature
iii) Rainfall
iv) Two major regions where it is grown.

6) i) On the given political map of India locate and label the following : (2)

a) Sardar Sarovar dam (along with river)

b) State producing largest amount of tea

ii)  Identify feature A marked on the map and write it’s correct name. (1)

A – A soil type.
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Economics 20

1) What is disguised unemployment? (1)

2) How does money eliminate the need of double coincidence of wants? (1)

3) What is the basic idea behind SHG’s? (1)

4) What is collateral securities? (1)

5) “Credit can push the borrower into a situation from which recovery is very painful.”
Explain. (3)

6) What are the differences between formal sector of loans and informal sector of loans?(1+1+1=3)

7) What is NREGA 2005? What are the objectives of NREGA 2005? (2+3=5)

8) Why do people prefer to work in an organized sector? Explain any five reasons. (5)

*******



fnYyh ifCyd Ldwy] fHkykbZ  

le;& 3 ?k.Vs v/kZokf"kZd ijh{kk&2017            13-09-17  

d{kk& nloha fo"k;& fgUnh  iw.kkZad&80 

funsZ’k& 

1- bl iz'ui= ds pkj [k.M gSa& d] [k] x vkSj ?kA 

2- pkjksa [k.Mksa ds iz’uksa ds mÙkj nsuk vfuok;Z gaSA  

3- ;FkklaHko izR;sd [k.M ds mÙkj Øe’k% nhft,A 

[k.M& ^d* 

iz'u 1-  fuEufyf[kr x|ka’k dks /;kuiwoZd i<+dj fn, x, iz’uksa ds mÙkj fyf[k,&     

vko’;drk bl ckr dh gS gekjh f’k{kk dk ek/;e Hkkjrh; Hkk"kk gks] ftlesa jk"Vª ds ân;&eu&izk.k 

ds lw{ere vkSj xaHkhjre laosnu eq[kfjr gks vkSj gekjk ikB~;Øe ;wjksi rFkk vejhdk ds ikB~;Øe ij 

vk/kkfjr u gksdj viuh lkaLd`frd ijEijkvksa ,oa vko’;drkvksa dk izfrfuf/kRo djasA Hkkjrh; Hkk"kkvksa] 

Hkkjrh; bfrgkl] Hkkjrh; n’kZu] Hkkjrh; /keZ vkSj Hkkjrh; lekt&’kkL= dks ge loksZifj LFkku nsaA mUgsa vius 

f’k{kkØe esa xkS.k LFkku nsdj ge f’kf{kr tu dks muls oafpr j[kdj geus jk"Vªh; laLd`fr esa ,d egku 

fjfDr dks tUe fn;k gS] tks ubZ ih<+h dks Hkhrj ls [kks[kyk dj jgk gSA ge jk"Vªh; ijEijk ls gh ugha] 

lkef;d thou izokg ls Hkh nwj tk iM+s gSaA fons’kh if’peh p’eksa ds Hkhrj ls ns[kus ij vius ?kj ds izk.kh 

Hkh csigpkus vkSj vthc ls yxus yxs gSaA f’kf{kr tu vkSj lkekU; turk ds chp dh [kkbZ c<+rh xbZ gS 

vkSj fo’o laLd`fr ds nkosnkj gksus dk naHk Hkjrs gq, Hkh ge vius ?kj esa okeu gh cus jg x, gSaA bl 

fLFkfr dks gkL;kLin gh dgk tk ldrk gSA  

 (d) f’k{kk dk ek/;e dksbZ Hkkjrh; Hkk"kk D;ksa gksuh pkfg,\       (2) 

([k) gekjh f’k{kk esa fdl izdkj ds ikB~;Øe dh vko’;drk gS\     (2) 
(x) f’kf{kr vkSj lkekU; turk esa fujarj varj c<+us dk D;k dkj.k gaS\    (2) 

(?k) mi;qZDr x|ka’k dk lokZf/kd mi;qDr 'kh"kZd D;k gks ldrk gS\     (1) 
(³) gesa ikB~;Øe esa fdu&fdu dks loksZifj LFkku nsuk pkfg,\     (2) 

 
iz'u 2-  fuEufyf[kr dkO;ka’k dks /;kuiwoZd i<+dj fn, x, iz’uksa ds mÙkj fyf[k,&   (2 3=6) 

dqN Hkh cu cl] dk;j er cuA  

Bksdj ekj iVd er ekFkk]  

rsjh jkg jksdrs ikguA  

dqN Hkh cu cl dk;j er cu!  

ys&nsdj thuk D;k thuk\  

dc rd xe ds vk¡lw ihuk\  

ekuork us lhapk rq>dks]  

cgk ;qxksa rd [kwu ilhuk!  

dqN u djsxk\ fd;k djsxk&  

js euq"; cl] dkrj Øanu\  

dqN Hkh cu cl] dk;j er cu!  

^;qn~/ka nsfg* dgs tc ikej  

ns u nqgkbZ ihB QsjdjA  

;k rks thr izhfr ds cy ij  

;k rsjk iFk pwes rLdjA  

izfrfgalk Hkh nqcZyrk gS]  

ij dk;jrk vf/kd vikou!  

dqN Hkh cu cl] dk;j er cuA  

rsjh j{kk dk u eksy gS  

ij rsjk ekuo veksy  

;g feVrk gS og curk gS]  

viZ.k dj loZLo euqt dks  

u dj nq"V dks vkRe&leiZ.k  

dqN Hkh cu cl dk;j er cuA 

  

 (d) jkg esa ck/kk,¡ vkus ij D;k djuk pkfg,\ 

([k) ekuork dk fodkl fdl rjg gqvk gS\ 
(x) dfo us izfrfgalk dks nqcZyrk vkSj dk;jrk dks vikou D;ksa dgk gS\ 

[k.M&^[k* 

iz'u 3-  (d)   'kCn rFkk in esa varj Li"V dhft,A       (1) 

([k) ^ln~Hkkouk* 'kCn dk iz;ksx in ds :i esa dhft,A     (1) 
(x) lp cksyus okys O;fDr dks dksbZ Mjk ugha ldrkA ¼feJ okD; esa cnfy,½   (1) 

(?k) vius lkeus ,d lqanj ;qod dks ns[kdj og fofLer gqbZA  

¼jpuk ds vk/kkj ij okD; Hksn fyf[k,½       (1) 
(³) tSlh vkidh bPNk gS] oSlh lQyrk rks jes’k ugha izkIr dj ik,xkA ¼ljy okD; esa cnfy,½

             (1) 



 

iz'u 4-  (d)   lekl&foxzg dj lekl dk uke fyf[k,&      (2) 

   vkRefo’okl] ijekuan 

([k) leLr in cukdj lekl dk uke fyf[k,&      (2) 
js[kk ls vafdr] ?kksM+s ij lokj 

iz'u 5-  (d)   fuEufyf[kr okD;ksa dks 'kq) djds fyf[k,&      (4) 

(i) rqe rqEgkjk dke Lo;a D;ksa ugha djrs\ 

(ii) eSa dsoy rkt+k xk; dk nw/k ihrk gw¡A 

(iii) xk¡o esa fdlh us ,slh ?kVuk ugha ns[kk FkkA 

(iv) d`i;k djds /;ku nsaA   

([k) fuEufyf[kr eqgkojksa dk vius okD;ksa esa iz;ksx dhft,&     (2) 
va/ks ds gkFk cVsj yxuk] ckV tksgukA 

 

 [k.M&^x* 

iz'u 6-  fuEufyf[kr iz’uksa ds mÙkj la{ksi esa nhft,&       (2+2+1=5) 

(i) dydÙkk ds uke ij dyad Fkk fd ;gk¡ dke ugha gks jgk gS] og vkt cgqr va’k esa /kqy x;k gSA 

,slk D;ksa dgk x;k gS\ 

(ii) 'kSysUnz ds vuqlkj ,d dykdkj dk D;k dÙkZO; gksuk pkfg,\ 

(iii) rrk¡jk okehjks dk laca/k laHko D;ksa ugha Fkk\ 

iz'u 7-  ^cM+s HkkbZ lkgc* uked ikB esa ys[kd us lewph f’k{kk ds fdu rkSj&rjhdksa ij O;aX; fd;k gS\ D;k 

vki muds fopkj ls lger gSa\         (5) 

iz'u 8-  fuEufyf[kr iz’uksa ds mÙkj la{ksi esa nhft,&      (2+2+1=5) 

(i) ^tc eSa Fkk rc gfj ugha] vc gfj gSa eSa uk¡fg* iafDr dk vk’k; Li"V dhft,A 

(ii) ehjk dh HkfDr dh D;k fo’ks"krk,¡ gSa\ 

(iii) tyn ;ku esa dkSu fopj.k dj jgk Fkk\ 

iz'u 9-  ^rksi* dfork }kjk dfo D;k lans’k nsuk pkgrk gS\      (5) 

 

iz'u 10-  ^gfjgj dkdk* dgkuh ds ek/;e ls ys[kd us lekt ds fdl dVq lR; dks gekjs le{k j[kk gS\ 

Li"V dhft,A           (5) 

[k.M&^?k* 

iz'u 11-  fuEufyf[kr fo"k;ksa esa ls fdlh ,d fo"k; ij fn, x, ladsr fcUnqvksa ds vk/kkj ij yxHkx 80&100 

'kCnksa esa vuqPNsn fyf[k,&         (5) 

(d) vius fy, ft, rks D;k ft, 

(i)  LokFkhZ gksrk euq";    (ii)  izd`fr ls lh[k    

(iii)  nsus ls ?kVrk ugha c<+rk gS   (iv)  nwljksa ds fy, thuk gh euq";rkA 

([k) izd`fr dh j{kk] ekuo dh lqj{kk 

(i)  euq"; izd`fr dk vax    (ii)  izd`fr ls f[kyokM+ 

(iii)  c<+rk iznw"k.k      (iv)  izd`fr dh j{kk ekuo tkfr dk dÙkZO;A 

(x) cnyrh thou 'kSyh % fxjrk LokLF; 

(i)  thou 'kSyh esa cnyko    (ii)  LokLF; ij izHkko  

(iii)  O;fDr vkSj lkekftd {kfr lq/kkjus ds mik;     

iz'u 12-  leLr vkSipkfjdrk,¡ iw.kZ djus ds ckn Hkh vHkh rd vkidks viuk vk/kkj igpku&i= ugha feyk 

gSA bl leL;k ds lek/kku gsrq lacaf/kr vf/kdkjh dks i= fyf[k,A    (5) 

vFkok 

nqdkunkjksa eas c<+rh tek[kksjh dh izo`fÙk ij fpUrk O;Dr djrs gq, fdlh lekpkj&i= ds laiknd dks 

i= fyf[k,A 

iz'u 13-  Nk= lfpo dh vksj ls vki fo|ky; dh LoPNrk ds fo:) dke djus okys Nk=ksa ij Qkbu dh 

?kks"k.kk djrs gq, 20&30 'kCnksa esa lwpuk rS;kj dhft,A      (5) 

iz'u 14-  vius fo|ky; ds ^LFkkiuk fnol* ds volj ij gq, lkaLd`frd dk;ZØeksa vkSj muds izn’kZuksa dks ysdj 

nks fo|kfFkZ;ksa ds e/; gq, loakn dks fyf[k,A       (5) 

iz'u 15-  ckt+kj esa u;k is; vk;k gS ^rkt+xh* blds fy, foKkiu rS;kj dhft,A    (5) 

*********



 
 

d&[k.M% & vifBr&vocks/kue~ & 10 vVk% 

[k&[k.M%& jpukRed&dk;Ze~ & 15 vVk% 

fnYyh&ifCyd&Ldwy] fHkykbZuxje~ 

le;% gksjk=;e~ v/kZokf"kZdh ijh{kk&2017&18     fnukV%&13-09-17  

d{kk& n’keh fo"k;% laLd`re~     iw.kkZVk%&80 
 

vfLeu~ iz’ui=s pRokj% [k.Mk% lfUr& 

d&[k.M% & vifBr&vocks/kue~  & 10 vVk% 

[k&[k.M% & jpukRed&dk;Ze~  & 15 vVk% 

x&[k.M% & vuqiz;qDr&O;kdj.ke~  & 25 vVk% 

?k&[k.M% & ifBr&vocks/kue~  & 30 vVk% 

 

 

1-  v/kksfyf[kra x|ka’ka ifBRok iznÙk&iz’uku~ mÙkjr&       (10)  

,dnk ,d% e`r% xt% u|ka izogu~ ;kfr LeA ra n`"V~ok dkd% izlUu% HkwRok rL;ksifj mifo"V%A ;Fks"Va 

ekale~ v[kknr~ unhtya p vficr~A xtL; e`rs 'kjhjs brLrr% mRdwnZu~ dkd% r`Ira xr%A l% vfpUr;r~& 

^^,rr~ ;kue~ vrho lqUnja orZrsA v= HkkstuL; ikuL; p vlqfo/kk ukLrhfr**A dkd% rL;ksifj fLFkRok 

;Fkkle;a ekala [kknfr unhtya p ihRok xPNfr LeA ekxsZ euksjeka izd`fra tyjkf’ka p oh{; l% vkuUneXu% 

tkr%A ijUrq unh izogUrh vdLekr~ lkxja laizkI; rsu lg fefyRok izklhnr~A rFkk p ^^y{;ghu% dkd%** egr~ 

nq[ka izkIr%A 

 I. ,dinsu mÙkjr&          (½x4=2) 

(i)  d% e`r% vklhr~\ 

(ii)  y{;ghu% d% vklhr~\ 

(iii)  dkd% fda [kknfr\ 

(iv)  dkd% fda izkIr%\ 

 II. iw.kZokD;su mÙkjr&          (2x2=4) 

(i)  dkd% fde~ vfpUr;r~\ 

(ii)  dkd% fda n`"V~ok vkuUneXu% tkr%\ 

 III. mi;qZDr&x|ka’kL; d`rs leqfpra 'kh"kZda fy[kr&        (2) 

IV. funsZ’kkuqlkje~ mÙkjr&         (½x4=2) 

(i)  ^xt%* bfr inL; fda fo’ks"k.kine~ vuqPNsns iz;qDre~\ 

 ¼d½ e`r%  ¼[k½ dkd%  ¼x½ [kknu~ 

(ii)  ^xPNfr* bfr inL; fda i;kZ;ine~ vuqPNsns iz;qDre~\ 

 ¼d½ ficfr  ¼[k½ [kknfr  ¼x½ ;kfr 

(iii)  ^egr~ nq[ka* v= fo’ks";ina fde~\ 

(iv)  ^lq[ke~* vL; inL; foykseine~ vuqPNsns fde~\ 

¼d½ nq%[ke~  ¼[k½ egr~  ¼x½ izkIr% 

 

 

2- Hkor% uke lfpu%A Hkoku~ firja izfr v/kksfyf[krs i=s fjDrLFkkukfu eŒtw"kk&in&lgk;r;k iwjf;Rok i=a iqu% 

fy[krq&             (5) 

           Mh-ih-,l- fHkykbZr% 

iwT;&fir`pj.kk%!         fnukV%&----@----@------ 

lknja (i)_________ 

v= dq’kya (ii)_____________ A vk’kka djksfe ;r~ Hkoku~ vfi ldq’kya (iii)_____________A fir%! 

ee (iv)_________ lekIrkA lokZf.k (v)_________ 'kksHkukfu vHkou~A v/kquk (vi)_________ 

fpUrkeqDr% vfLeA bnkuha ee fe=kf.k Hkze.kk; (vii)_________ bfr uxjha xPNfUrA vge~ vfi rS% lg 

xUrqe~ bPNkfeA vr% Hkze.kk; eº;a (viii)_________ #I;dkf.k isz"k;rq Hkoku~A (ix)_________ ueksue%A 

 

Hkor% (x)_________ 

    lfpu% 

 eŒtw"kkinkfu& iq=%] iz.kkek%] r=kLrq] ijh{kk] iŒp&’kre~] Hkfo";fr] vge~] iqjh] iz’u&i=kf.k] ek=s 



 
 

x&[k.M% & vuqiz;qDr&O;kdj.ke~ & 25 vVk% 

 

3- iznÙka fp=e~ vk/k`R; eŒtw"kk&inlgk;r;k iŒpokD;kfu laLd`rsu fy[kr&         (10) 

 
 

eŒtw"kkinkfu& 

 

 

 

4- v/kksfyf[kr&okD;s"kq js[kkfVrins"kq lfU/ka lfU/kfoPNsna ok d`Rok fy[kr&    (1x4=4) 

(i) f’ko$vky;k% loZ= 'kksHkUrsA 

(ii) ckfyd;k lg ckydks·fi Qya [kknfrA   

(iii) izkr% dkys lw;Z$mn;% HkofrA 

(iv) jke% fo|ky;³~xPNfrA 

5- v/kksfyf[krokD;s"kq js[kkfVrinkuka lekla foxzga ok iznÙkfodYisH;% fpRok fy[kr&   (1x4=4) 

(i)  loZa nnkfr bfr ljLorh lnk j{kka djksfrA 

¼d½ loZnh  ¼[k½ loZnk  ¼x½ lkoZnk 

(ii)  f=yksdh lalkjs izfl)k orZrsA 

¼d½ =;% yksdk%  ¼[k½ frL=% yksdk% ¼x½ =;k.kka yksdkuka lekgkj% 

(iii)  n’kjFkiq=k% ohjk% vklu~A 

¼d½ n’kjFkL; iq=k% ¼[k½ n’kjFks iq=%  ¼x½ n’kjFkkS iq=k% 

(iv)  vlR;a dnkfi u oDrO;e~A 

¼d½ v lR;e~  ¼[k½  u lR;a  ¼x½ u vlR;e~ 

 

6- v/kksfyf[krokD;s"kq js[kkfVrinkuka izd`fr&izR;;kS la;ksT; foHkT; ok mfpre~ mÙkja fodYisH;% fpRok  

fy[kr&            (1x4=4) 

(i)  U;k¸;s ifFk LFkk$rO;r~A 

¼d½ fLFkrO;e~  ¼[k½ LFkkrO;e~  ¼x½ LFkkrhO;e~ 

(ii)  uefUr Qfyu% o`{kk%A 

¼d½ Qy$bfu  ¼[k½ Qyh$bu  ¼x½ Qy$Dr 

(iii)  euq";% /kkfeZd% izk.kh orZrsA 

¼d½ /kkeZ$d~  ¼[k½ /keZ$Bd~  ¼x½ /keZ$vd 

(iv)  Hkhe% cyoku~ ;ks)k vklhr~A 

¼d½ cky$erqi~  ¼[k½  ckyoo$erqi~ ¼x½ cy$erqi~ 

 

o`{kk%] [kxk%] iq"ikf.k] ckydk%] Hkze.ka dqoZfUr] vkdk’ks] lw;Z%] [ksyfUr] mnsfr] iwoZfn’kk;ka] 

dwtfUr] Hkzejk%] xqŒtfUr] fodlfUr] lqUnjkf.k] v=] okuj%] i';fr] mRirfUrA 
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-------------

-------------

 

7- v/kksfyf[kr&okD;s"kq okP;kuqlkja fodYisH;% mfprina fpRok fjDrLFkkukfu iwj;r&   (1x3=3) 

 fgeka'kq%   &  bZf’krs! Roa fda (i)_________\ 

¼d½ iBkfe  ¼[k½  iBfl  ¼x½ iBko% 

bZf’krk   &  Hkzkr%! e;k (ii)_________iB~;rsA 

¼d½ iqLrde~  ¼[k½  iqLrdkfu  ¼x½ iqLrds 

fgeka’kq%   &  Roa fo|ky;a dnk xPNfl\ 

bZf’krk  &  (iii)_________ lIroknus fo|ky;% xE;rsA 

¼d½ vge~  ¼[k½  eke~  ¼x½ e;k 

  

8- le;kuqlkje~ mfpre~ mÙkja fodYisH;% fpRok fy[kr&      (1x2=2) 

(i)  jek  5-30   oknus tkxfrZA   

¼d½ likniŒp  ¼[k½ lk/kZiŒp    ¼x½ iŒp 

(ii)  lk 7-00   oknus fo|ky;a xPNfrA  

¼d½ lIr  ¼[k½ "kV~     ¼x½ iknksu lIr 

 

9- v/kksfyf[krokD;s"kq fjDrLFkkukfu eŒtw"kk;ka iznÙkS% mfprS% vO;;inS% iwjf;Rok fy[kr&  (1x4=4) 

 

eŒtw"kkinkfu& 

 

(i)  ----------------jktk rFkk iztk%A 

(ii)  xt% ----------------pyfrA 

(iii)  lR;e~ ---------------- t;rsA       

(iv)  tya ---------------- thoua ukfLrA 

 

10- v/kksfyf[krokD;s"kq js[kkfVra ine~ v’kq)e~ vfLrA iznÙk&fodYisH;% mfpre~ mÙkja fpRok v’kq)ina 'kq)a d`Rok 

fy[kr&            (1x4=4) 

(i)  rs ckfydk% dq= xfe";fUrA 

¼d½ ckfydk  ¼[k½ ckydk%  ¼x½ ckydkS 

(ii)  vga O;FkZa u onfrA 

¼d½ onkfe  ¼[k½ onko%  ¼x½ onke% 

(iii)  }s Nk=s v= iBfUrA 

¼d½ iBFk  ¼[k½ iBfr  ¼x½ iBr% 

(iv)  fda Roa 'o% vxPN%\ 

¼d½ xfe";fl  ¼[k½ xfe";Fk%  ¼x½ xfe";Fk 

 

 

 

11- v/kksfyf[kra x|ka’ka ifBRok iznÙkiz’uku~ laLd`rsu mÙkjr&       

  vFk ,dnk Hkxoku~ cksf/klRo% cgqtUekftZr&iq.;QyS% f’kohuka jktk cHkwoA l ckY;kr~ ,o o`)ksilsoh] 

fou;’khy% 'kkL=ikj³~xr% p vklhr~A tudY;k.kdeZlq jr% vlkS iq=or~ iztk% iky;fr LeA 

dk#.;&vkSnk;kZfn&ln~xq.kksisr% l uxjL; leUrr% /ku/kkU;le`)k% nku’kkyk% vdkj;r~A r= vfFkZuka lewg% 

vUu&iku&olu&jtr&lqo.kkZfndkfu vHkh"Vkfu oLrwfu izkI; lUrq"V% vHkor~A jkK% nku’khyrke~ vkd.;Z 

ns’kkUrjsH;ks·fi tuk% ra ns’ke~ vk;kfUr LeA  

 

I. ,dinsu mÙkjr&          (½x4=2) 

(i)  cksf/klRo% ds"kka jktk cHkwo\ 

(ii)  jktk iq=or~ dk% iky;fr Le\ 

(iii)  jktk /ku/kkU;le`)k% dk% vdkj;r~\ 

(iv)  jktk dL; leUrr% nku’kkyk% vdkj;r~\ 

 II. iw.kZokD;su mÙkjr&          (1x2=2) 

(i)  vfFkZuka lewg% fda izkI; lUrq"V% vHkor~\ 

(ii)  cksf/klRo% ckY;kr~ ,o dhn`’k% vklhr~\ 

 

fouk] ;Fkk] ,o] 'kuS% 



 
 

 III. funsZ’kkuqlkje~ mÙkjr&         (½x4=2) 

(i)  ^;kpdkuke~* bfr inL; i;kZ;ine~ x|ka’ks fde~\ 

 ¼d½ vfFkZuka  ¼[k½ f’kohuke~  ¼x½ nku’khyrk 

(ii)  ^vlUrq"V%* bfr inL; fda foykseina x|ka’ks vkxre~\ 

 ¼d½ vfFkZuke~  ¼[k½ lUrq"V%  ¼x½ nku’kkyk 

(iii)  ^vk;kfUr Le* bfr fØ;kinL; dr`Zina x|ka’ks fde~\ 

 ¼d½ cksf/klRo%  ¼[k½ iztk  ¼x½ tuk% 

(iv)  ^/ku/kkU;le`)k%* bfr inL; fo’ks";ina x|ka’ks fda iz;qDre~\ 

¼d½ nku’kkyk%  ¼[k½ vfFkZu%  ¼x½ ;kpdk% 

 

12- v/kksfyf[kra ukV~;ka’ka ifBRok iznÙk&iz’uku~ mÙkjr&  

¼rL; opue~ vJ)s;a eRok enks)rk% di;% izgL; vonu~½ 

di;% &  ^Hkks ! fde~ bne~ mP;rs\ u o;a LoxZlekuksiHkksxku~ fogk; vVO;ka {kkj&frDr&d"kk;&dVq&#{k& 

Qykfu Hk{kf;";ke%A* 

 ¼rPNªqRok lkJqu;uks ;wFkifr% lxn~xne~ mDroku~½ 

;wFkifr%&  ^jlukLoknyqC/kk% ;w;e~ vL; lq[kL; dqifj.kkea u tkuhFkA vga rq oua xPNkfeA* 

 

I. ,dinsu mÙkjr&          (½x4=2) 

(i)  enks)rk% ds vklu~\ 

(ii)  d% lxn~xne~ mDroku~\ 

(iii)  jlukLoknyqC/kk% ds vklu~\ 

(iv)  lkJqu;u% d% vklhr~\ 

 II. iw.kZokD;su mÙkjr&          (1x2=2) 

(i)  ;wFkifr% jlukLoknyqC/kku~ okujku~ fde~ vonr~\ 

(ii)  di;% LoxZlekuksiHkksxku~ fogk; fda u Hk{kf;";fUr\ 

 III. funsZ’kkuqlkje~ mÙkjr&         (½x4=2) 

(i)  ^J)s;e~* bfr inL; fda foykseina ukV~;ka’ks vkxre~\ 

 ¼d½ vJ)s;e~  ¼[k½ LoknyqC/kk%  ¼x½ lxn~xne~ 

(ii)  ^R;DRok* bfr inL; fda i;kZ;ina ukV~;ka’ks vkxre~\ 

 ¼d½ vkxR;  ¼[k½ fogk;  ¼x½ ;w;e~ 

(iii)  ^xPNkfe* bfr fØ;kinL; dr`Zina ukV~;ka’ks fda iz;qDre~\ 

 ¼d½ vga  ¼[k½ vkoke~  ¼x½ okujk% 

(iv)  ^opue~* bfr inL; fda fo’ks"k.kina ukV~;ka’ks vkxre~\ 

¼d½ enks)rk%  ¼[k½ vJ)s;e~  ¼x½ izgL; 

 

13- v/kksfyf[kra i|ka’ka ifBRok iznÙkiz’uku~ mÙkjr&         

 dks·uFkZQy%\ eku%] dk lq[knk\ lk/kqtueS=hA 

 loZO;lu&fouk’ks dks n{k%\ loZFkk R;kxhAA 

 

I. ,dinsu mÙkjr&          (1x2=2) 

(i)  vuFkZQy% d%\ 

(ii)  lq[knk dk\ 

 II. iw.kZokD;su mÙkjr&          (2x1=2) 

(i)  loZO;lu&fouk’ks n{k% d%\ 

 III. funsZ’kkuqlkje~ mÙkjr&         (½x4=2) 

(i)  ^vuFkZQy%* bfr inL; fo’ks";ina fde~\ 

 ¼d½ n{k%  ¼[k½ lq[knk  ¼x½ eku% 

(ii)  ^nq%[knk* bR;L; foykseina i|ka’ks fde~\ 

 ¼d½ lq[knk  ¼[k½ loZFkk  ¼x½ R;kxh 

(iii)  ^fuiq.k%* inL; i;kZ;ina i|ka’ks fde~\ 

 ¼d½ eku%  ¼[k½ n{k%  ¼x½ vuFkZ% 

(iv)  ^lk/kqtueS=h* bfrinL; fo’ks"k.kina i|ka’ks fde~\ 

¼d½ lq[knk  ¼[k½ nq%[knk  ¼x½ R;kxh 



 
 

 

 

14- js[kkfVrinkfu vk/k`R; fodYisH;% fpRok iz’ufuekZ.ka dq#r&     (1x4=4) 

(i)  dke% ,o Øks/ka tu;frA   ¼d½ d%   ¼[k½ de~  ¼x½ dsu 

(ii)  es"k% v/kZTofyrdk"Bsu rkfMr%A  ¼d½ d%   ¼[k½ fde~  ¼x½ dsu 

(iii)  jkxL; foykse% R;kx%A   ¼d½ dL;  ¼[k½ dke~  ¼x½ d% 

(iv)  'kkjnk vLekda lehis olsr~A  ¼d½ fde~  ¼[k½ dk   ¼x½ dFke~ 

 

15- eŒtw"kkr% leqfpra ina fpRok v/kksfyf[kr&'yksd};L; vUo;a iwj;r&     

I. dke ,"k Øks/k ,"k jtksxq.kleqn~Hko%A       (½x4=2) 

 egk'kuks egkikIek fo)~;sufeg oSfj.ke~AA 

 

vUo;% & jtksxq.kleqn~Hko% ,"k% ___________ ,"k% Øks/k%] ¼,"k%½ egk’ku% ___________ ] ,ue~   

        ___________oSfj.ka ___________ A  

 

eŒtw"kkinkfu& 

 

II. nkL;kehfr izfrKk; ;ks·U;Fkk dq#rs eu%  A      (½x4=2) 

dkiZ.;kfuf’pers% d% L;kr~ ikirjLrr%AA 

 

vUo;% & nkL;kfe bfr ___________ ;% eu% vU;Fkk ___________ dkiZ.;kfuf’prers%           

       ___________ ikirj% d% ___________ A  

 

eŒtw"kkinkfu& 

   

  

16- v/kksfyf[krokD;s"kq js[kkfVrinkuka izlXkuqlkja 'kq)e~ vFkZa fpRok fy[kr&    (4x1=4) 

(i)  f’k";% vkpk;kZr~ ikne~ vknÙksA    

¼d½ prqFkkZa’ke~  ¼[k½ pj.k%  ¼x½ thoue~~ 

(ii)  'kqJw"kk Jo.ka xzg.ka p ,rs xq.kk% lfUrA    

¼d½ lsok  ¼[k½ Jksrqe~ bPNk ¼x½ Js"Bk 

(iii)  dygkUrkfu gE;kZf.k dqokD;kUra p lkSâne~A  

¼d½ fe=rk  ¼[k½ firk  ¼x½ ekrk 

(iv)  di;% izgL; vonu~A      

¼d½ v’ok%  ¼[k½ okujk%  ¼x½ iztk% 

 

 

 

bg]  dke%]  egkikIek]  fof) 

dq#rs]  izfrKk;]  L;kr~]  rr% 
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